
CHAPTER 13
The balanced scorecard: 
strategic-based control

  discussion questions 

1.
A strategic-based responsibility accounting system converts an organization’s mission and strategy into operational objectives and measures for four perspectives: the financial perspective, the customer perspective, the process perspective, and the learning and growth perspective. It differs from activity-based responsibility accounting because of the formal linkage to strategy and because it adds two perspectives to the responsibility dimension: the customer perspective and the learning and growth perspective.

2.
A Balanced Scorecard is a strategic-based performance management system that translates an organization’s vision and strategy into operational objectives and measures for four perspectives: financial, customer, process, and learning and growth.

3.
Balanced measures mean that the strategic measures used are made up of a proper mix of integrated financial and nonfinancial measures that are both predictive and historical and which may be subjective or objective in nature.

4.
Lag measures reflect what has happened. Lead measures are factors that drive future performance.
5.
Objective measures are quantifiable and verifiable. (Verifiable means that the values are the same from one person to the next.) Subjective measures are less quantifiable and more judgmental in nature (indicating that their values can vary from one person to the next).

6.
Stretch targets are targets that are set at levels that, if achieved, will transform the organization within three to five years. Their strategic purpose is to bring the organization to the level envisioned by the strategy.


7.
A strategic-based reward system is designed to encourage and support the implementation of the organization’s strategy. Rewards are offered for both financial and nonfinancial performance. (Traditional rewards are mostly tied to financial performance.)

8.
The three strategic themes of the financial perspective are revenue growth, cost reduction, and asset utilization.

9.
The five core objectives of the customer perspective are market share, customer retention, customer acquisition, customer satisfaction, and customer profitability.

10.
The long-wave of value creation means anticipating the emerging and potential needs of customers and creating new products and processes to satisfy those needs. The short-wave of value creation is producing and 
delivering existing products to customers.

11.
The three processes of the process value chain are the innovation process, the operations process, and the post-sales service process. The innovation process anticipates the emerging and potential needs of customers and creates new products and services to satisfy those needs. The operations process produces and delivers existing products and services to customers. The post-sales service process provides critical and responsive services to customers after the product or service has been delivered.

12.
Three objectives of the learning and growth perspective are to increase employee capabilities; to increase motivation, empowerment, and alignment; and to increase information systems capabilities.

13.
A testable strategy is a set of linked objectives aimed at an overall goal that can be restated into a sequence of cause-and-effect hypotheses.

14.
Double-loop feedback is information that deals with both the effectiveness of strategy implementation and the validity of the assumptions underlying the strategy. 

15.
Communication, incentives, and resource allocation are three methods that promote strategic alignment. To internalize the strategy, employees must be fully informed and aware of how their actions affect the strategy. Rewards must be tied to the strategic measures, and resources must be allocated to fund the strategic initiatives.

CORNERSTONE Exercises

Cornerstone Exercise 13.1

1.
Actual cycle time = 60 minutes/160 units = .375 minutes per unit

Standard cost per minute = $60,000,000/10,000,000 = $6 per minute

Conversion cost per unit = $6 × .375 = $2.25 per unit

2.
Theoretical cycle time = 60 minutes/300 units = 0.2 minutes per unit


Conversion cost per unit = $6 × 0.2 = $1.20 per unit

The incentive is to reduce cycle time because it reduces the cost per unit. 

3.
Actual cycle time = 60 minutes/220 units = .27 minutes (rounded)


Conversion cost per unit = $6 × .27 = $1.62 per unit

The company should be able to deliver orders more quickly and performance should improve. 

Cornerstone Exercise 13.2

1.
Process time
= 60 minutes – 20 minutes – 18 minutes – 12 minutes 
= 10 minutes

MCE
=
Process time /(Process time + Move time + Inspection time + Rework time)


=
10/(10 + 20 + 18 + 12) 



=
0.17 (rounded) 


A value of 0.17 indicates that 83 percent of the manufacturing cycle is attributable to waste.
2.
Theoretical cycle time = 10 minutes/100 units = 0.10 minute

Actual cycle time = 60 minutes/100 units = 0.60 (includes theoretical cycle time plus the waste)


MCE
=
Theoretical cycle time/Actual cycle time



=
0.10/0.60 = 0.17 (rounded)
3.
New waste = (0.60)(20 minutes + 18 minutes + 12 minutes) = 30 minutes


MCE
=
10/(10 + 30) = 0.25 (It now takes 40 minutes to produce 100 units.)

Cornerstone Exercise 13.3
1.
Strategy Map
Financial 

                                                               



Customer                                                             





Process



Learning &
Growth

2.
Consider the objective of increasing product quality. Increased product quality is an outcome (lag) measure for the objective of increasing employee satisfaction. However, it also acts as a performance driver (lead variable) for the objective of increasing patient satisfaction.
3.
Assuming that the strategy is valid, increasing the targeted profit is dependent on achieving the targeted values of all the preceding lead variables. If, for example, the product quality was not increased, then the targeted improvement in patient satisfaction may not occur. This in turn would ripple through the series and may explain why the targeted profits were not achieved. In this case, ensuring the planned actions are actually implemented is the solution. If, on the other hand, the product quality was increased and the targeted profit is not achieved, then there is a problem with the strategy.
EXERCISES

Exercise 13.4
A strategic-based system adds direction to improvement efforts by tying responsibility to a firm’s strategy. It increases the dimensions of responsibility by 
adding at least two dimensions: the customer perspective and the learning and growth perspective. Finally, it diffuses responsibility for the strategy throughout the entire organization.

Exercise 13.5
1.
Scorecard measures differ because they are integrated. Strategy is the basis for integration. This means they are derived from, support, and describe the strategy of an organization. They are used to express the cause-and-effect relationships that define a well-thought-out strategy. Scorecard measures also differ because they are developed for more than just the process and financial perspectives. Customer and learning and growth measures are also 
developed.

2.
A historical measure is a lag measure—it measures an outcome—something that has already happened. A predictive measure is a lead measure—it drives future performance.

Exercise 13.6
1.
Change is brought about by establishing stretch targets that are set at levels which, if achieved, will transform the organization. These targets are set for all measures in all four perspectives. Stretch targets are feasible because the measures are linked by causal relationships. Furthermore, because of the linkages, the targets are set by consensus, not in isolation.

2.
Double-loop feedback is the means by which strategy effectiveness and viability are tested. A strategy can be expressed as a series of if-then statements based on causal relations. If the outcome occurs as predicted, then evidence exists that supports effectiveness and viability. If the outcome is different than predicted, then either the strategy was not implemented as planned or it is not viable. If the lead measures do not achieve their planned values, then the problem is one of effectiveness. If the lead measures are at their planned values (or better) and the outcomes do not materialize, then the viability of the strategy can be questioned.

Exercise 13.7
a.
Financial, Financial, Objective, External

b.
Customer, Nonfinancial, Subjective, External

c.
Process (innovation), Nonfinancial, Objective, Internal

d.
Learning and Growth, Nonfinancial, Objective, Internal

e.
Learning and Growth, Financial, Objective, Internal

f.
Process (operations), Financial, Objective, Internal

g.
Customer, Nonfinancial, Objective, External

h.
Learning and Growth, Nonfinancial, Objective, Internal

i.
Process (operations), Nonfinancial, Objective, Internal

j.
Customer, Nonfinancial, Objective, External

k.
Process (innovation), Financial, Objective, External

l.
Financial, Financial, Objective, External

Exercise 13.8
1.
Theoretical rate = $12,960,000/1,440,000 = $9.00 per minute


Theoretical conversion cost per unit = $9.00 × 65 = $585
2.
Applied conversion cost per unit = $9.00 × 100 = $900


Note: 60/0.6 = 100 minutes used per unit.

3.
An incentive exists to reduce product cost by reducing cycle time. For example, current cycle time is 100 minutes per unit. If cycle time could be reduced to 75 minutes per unit, conversion costs would be reduced from $900 per unit to $675 per unit, reducing the unit product cost by $225. Reducing cycle time increases the ability to meet deliveries on time as well as increasing the ability of the firm to respond quickly to customer demands. Conversion cost is a performance driver for on-time deliveries because reducing conversion cost is achieved by reducing cycle time. In reality, however, the true performance driver is cycle time—it improves delivery performance and cost performance. 

Exercise 13.9
1.
Velocity (theoretical) = 243,000/60,750 = 4 laptops per hour


Velocity (actual) = 91,125/60,750 = 1.5 laptops per hour


Cycle time (theoretical) = 60 minutes/4 laptops = 15 minutes per laptop

Cycle time (actual) = 60 minutes/1.5 laptops = 40 minutes per laptop
2.
Conversion cost rate = $7,290,000/(60,750 × 60) = $2.00 per minute



Assignment per unit (theoretically)
= $2.00 × 15 minutes




= $30, or $7,290,000/243,000



= $30


Assignment per unit (actual)
= $2.00 × 40 minutes 




= $80
3.
MCE = Process time/(Process time + Wait time + Move time + Rework time) = 15/50* = 0.30. Increasing MCE will reduce the actual process time by reducing non-value-added time. This, in turn, will reduce conversion cost per unit. 


*15/(15 + 10 + 20 + 5)

Exercise 13.10
1.
If the plant layout is improved, then wait time and move time will decrease; if wait time and move time decrease, then MCE will increase; if MCE increases, then conversion cost per unit will decrease.

2.
MCE of 75 percent implies the following ratio: 15/20, which implies that move time and wait time have been reduced to zero (leaving rework time of five minutes as the source of inefficiency). The expected conversion cost per unit now is $2.00 × 20 minutes = $40. The strategy can be tested by executing the performance drivers and seeing if the lag variables achieve the predicted values. For example, if the company redesigns the plant layout, do move time and wait time reduce to zero? If yes, then does the applied conversion cost drop to $40? If yes, then evidence exists supporting the viability of the strategy.

Exercise 13.11
1.
Lead indicators make things happen—they are the things that enable 
outcome measures to be achieved. Some measures may act as both lead and lag indicators. This exercise illustrates and emphasizes that it is very difficult to classify measures as lead or lag without expressing the underlying strategy as a series of if-then statements: if A, then B; if B, then C; etc., helps 
identify the lead and lag roles of measures. When a measure is associated with a premise, it functions as a lead measure; if a measure is associated with a consequence, it acts as a lag variable. [If A (lead), then B (lag); if B (lead), then C (lag)]. Thus, we have the following:

            Employee capabilities (e.g., hours of training): Lead indicator

            Process time (Cycle time): Lag (as a consequence) and lead (as a premise)


     Customer retention: Lag (as a consequence) and lead (as a premise)

            Market share: Lag as a consequence and lead as a premise
            Revenues: Lag indicator

2.
It is interesting to note that learning and growth indicators come at the beginning of the strategy map and that indicators from the financial perspective come at the end of the map. Thus, learning and growth tend to act primarily as lead indicators, and financial perspective indicators tend to act primarily as lag indicators. This says that changing the financial outcomes is rooted in performance indicators coming from the learning and growth, process, and customer perspectives. 

3.
Double-loop feedback provides information about both effectiveness and viability. If employee capabilities do not improve, then it could be due to one of two reasons: (1) The targeted value for employee capabilities (e.g., number of targeted training hours) was not achieved so the strategy was not implemented according to plan. Thus, even though the hypothesized relationship may be correct, the outcome wasn’t realized because the levels planned for the performance driver were not achieved. (2) The planned level for employee capabilities was achieved, but cycle time still did not decrease. This provides evidence that the hypothesized relationship is not correct and questions the viability of the strategy itself.

Exercise 13.12
1.
Strategy Map:


Financial



Customer



Process




Learning &


Growth

2.
The strategy is testable because each if-then sequence is essentially a 
hypothesis about the relationship between lead and lag variables. If the lead variables achieve their planned levels, then the lag variables should at least produce the expected outcomes. If not, then the strategy as envisioned may not be viable, and adjustments will need to be made.

Exercise 13.13
1.
If (a) employees are trained to improve their soldering capabilities, (b) the manufacturing process is redesigned, and (c) the right suppliers are selected, then the number of defective units produced will decrease; if the number of defective units produced decreases, then customer satisfaction will increase and costs will decrease; if customer satisfaction increases, then market share will increase; if market share increases, then sales will increase; if sales increase and costs decrease, then profits will increase.

2.
Strategy Map:


Financial



Customer



Process




Learning &


Growth
Exercise 13.13
(Concluded)
3.
Each consequence of the if-then sequence (the “then” outcome) can be tested to see if the outcome is as expected. For example, if workers are trained to 
solder better, do defects actually decrease? If defects decrease, do we observe an increase in customer satisfaction? Does market share then increase? Thus, the consequences are observable but only if they are mea-sured. Of course, it should be mentioned that not only outcomes must be measured but also those factors that lead to the outcomes (the performance drivers). Was the process redesigned? How many hours of training are needed, and were they provided? Were suppliers selected so that we now have a higher-quality circuit 
board? Note also that the number of defects acts as both a lag measure and a lead measure. First, it measures the outcome for training, supplier selection, and process redesign. Second, it also drives customer satisfaction (which must be measured by surveys) and cost reduction. 


Targets indicate the amount of performance driver input and the improvement expected. For example, the company may budget 100 hours of soldering training, 300 hours of supplier evaluation, and two new process changes and then expect a 50 percent reduction in the number of defects (the outcome). Suppose that the outcome is only a 10 percent reduction in defects. Comparing the 50 percent to the 10 percent reduction achieved reveals a problem. Double-loop feedback provides information regarding both the validity of the strategy and the effectiveness of implementation. If the targeted levels were not achieved for the performance drivers, then it is possible that the outcome was not achieved because of an implementation problem. If, however, the targeted levels of the performance drivers were achieved, then the problem could lie with the strategy itself. Maybe training to solder better has little to do with reducing defects (it may not be as much of a problem as thought). Or, perhaps the current suppliers are not really a root cause for the production of defects.

Exercise 13.14
1.
Bonuses:


By perspective:



Financial: 0.40 × $100,000 = $40,000



Customer: 0.20 × $100,000 = $20,000



Process: 0.20 × $100,000 = $20,000 



Learning & growth: 0.20 × $100,000 = $20,000


By objective:



Financial:




Profits: 0.50 × $40,000 = $20,000




Revenues: 0.25 × $40,000 = $10,000




Costs: 0.25 × $40,000 = $10,000



Customer:




Customer satisfaction: 0.60 × $20,000 = $12,000




Market share: 0.40 × $20,000 = $8,000



Process:




Defects decrease: 0.40 × $20,000 = $8,000




Supplier selection: 0.30 × $20,000 = $6,000




Redesign process: 0.30 × $20,000 = $6,000



Learning & growth:




Training: $20,000

2.
Measures must be developed for each objective of each perspective. Next, targeted values for each measure are set. To encourage attention for each 
objective, a company might require that a minimum value for each objective be met before any bonus is awarded. Bonuses are then assigned based on the percentage of the target achieved above the minimum value.

3.
Involving employees in identifying the strategic objectives and measures will help the employees internalize them. Nonfinancial rewards—such as public recognition of achievements—can also help. It is important that the objectives and measures are communicated. Also, ensuring that the firm’s strategy is based on causal relationships will help employees see the outcomes of their efforts.

CPA-TYPE EXERCISES

Exercise 13.15
c.
If the target value of the performance driver is achieved (reduction in defective units) then there is no implementation or execution problem (the focus of 
single-loop feedback). The issue has to do with whether or not the hypothesized relationship is valid.  

Exercise 13.16
b.
 
Exercise 13.17
d.
Cycle time = the time it takes to produce one unit = 5 hours/40 units = 1/8 hour per unit = 7.5 minutes per unit. 

Exercise 13.18
b.
Learning and growth has three major objectives: (1) increase employee capabilities; (2) increase motivation, empowerment, and alignment; and 
(3) increase information system capabilities. 

Exercise 13–19
d.
Service efficiency has to do with post-sales process; cycle time with the innovation process, and reducing cost with the financial perspective. Delivery reliability is directly connected to customers and the customer perspective. 
PROBLEMS

Problem 13.20
MEMO

TO:
Carson Wellington

FROM:
Emily Sorensen

RE:
Comparison of Activity- and Strategic-Based Responsibility Accounting

DATE:
July 14, 2014
As requested, I am providing, in advance, a list of some of the most important similarities and differences between activity- and strategic-based responsibility accounting. Once you have had a chance to review this list, we can meet and discuss the steps that must be taken if we are to implement a strategic-based approach.

SIMILARITIES:

· Both approaches emphasize the need to support and encourage continuous improvement.

· Both emphasize the importance of process responsibility and financial 
responsibility.

· Teams are important for both (due to process emphasis).

· Both use financial and nonfinancial performance measures.

· Both base rewards on multidimensional performance and allow gainsharing as a possible incentive structure.

· Bottom line, the strategic-based approach essentially includes the activity-based approach as a subset.

Problem 13.20
(Concluded)
DIFFERENCES:

· The strategic-based approach expands the responsibility dimensions from two to four, adding a customer perspective and a learning and growth perspective.

· The performance measures selected are balanced between those that drive performance and those that measure outcome, between financial and nonfinancial, between subjective and objective measures, and between external and internal measures.

· Performance measures are developed for four rather than two perspectives.

· The performance measures are linked to the mission and strategy of the 
organization. Thus, they articulate and communicate the mission and strategy to employees and help align the interests of individuals with those of the 
organization.

· Fundamentally, the strategic-based approach provides a much needed guidance system to the continuous improvement efforts of an organization. 
Directed continuous improvement increases the probability of competitive success.

Problem 13.21
1.


2014


2016



a.
208,000/104,000 = 2/hr.
234,000/104,000 = 2.25/hr.



60/2 = 30 min.
60/2.25 = 26.67 min.


b.
5,200/208,000 = 0.025
26,000/234,000 = 0.111 


c.
83,200/208,000 = 40%
140,400/234,000 = 60%


d.
208,000/1,300,000 = 16%
234,000/1,300,000 = 18% 


e.
N/A
($260 – $325)/$325 = (20%)


f.
N/A
(7.8 – 15.6)/15.6 = (50%)


g.
13,000/208,000 = 6.25%
5,200/234,000 = 2.22%


h.
260 hrs.
1,040 hrs.


i.
104/40 = 2.6
312/40 = 7.8

j.
$40,560,000
$45,630,000


k.
5,200
26,000

Problem 13.21
(Concluded)
2.

Strategic Objective


Measure


Financial:


Reduce unit cost
Unit cost reduction (%)


Develop new revenue
Percentage of new revenues


Increase total revenues
Revenue


Customer:


Increase customer satisfaction
Percentage of very satisfied customers


Increase market share
Market share


Increase customer acquisition
Number of new customers


Process:


Decrease process time
Cycle time/Velocity


Improve product quality
Percentage defects


Decrease inventory
Days of inventory


Learning & Growth:


Increase employee capability
Training hours


Increase employee motivation
Suggestions per worker

Problem 13.22
1.
Based on the available information, we can express the strategy as follows (other if-then possibilities may be reasonable):


If training and motivation are increased, then product quality and process time will improve; if process time decreases and product quality improves, then inventory will decrease and customer satisfaction will increase; if inventory decreases, then costs will decrease; if customer satisfaction increases, then more new customers can be acquired; if new customers are acquired, then market share will increase and the percentage of revenues from new customers will increase; if market share increases and new customer revenues increase, then total revenues will increase.


The measures reveal a lot about the strategy; in fact, if the measures and associated objectives are well specified, they should tell the whole story of the strategy.

Problem 13.22
(Concluded)
2.
Strategy Map:

Financial 

                                                               



Customer                                                             



Process







Learning &
Growth
Problem 13.23
1.

Strategic Objective


Measure


Financial:


Increase revenue, new products
Percentage of revenue from new products 


Decrease operating expenses
Operating expenses


Increase ROI
ROI


Decrease collection period, A/R
Average collection period


Customer:


Increase customer satisfaction
Satisfaction index


Increase customer acquisition
Number of new customers


Process:

Decrease development cycle time
Cycle time/New products


Decrease rework
Percentage units reworked


Learning & Growth:

Increase suggestions implemented
Number of suggestions implemented


Increase employee morale
Satisfaction index


Increase access to information 
Percentage of employees with 
access


Increase employee productivity
Output/Hour


Increase employee skills
Hours of training

Problem 13.23
(Concluded)
2.
Strategy Map:


Financial





Customer




Process




Learning &


Growth






Problem 13.24
1.
Velocity (theoretical) = 450,000/150,000 = 3 carburetors per hour


Cycle time (theoretical) = 60 minutes/3 units = 20 minutes per unit

2.
Conversion cost rate = $9,000,000/(150,000 × 60) = $1.00 per minute



Assignment per unit (theoretically)
= $1.00 × 20 minutes






= $20.00, or $9,000,000/450,000
= $20.00

3.
Applied conversion cost = $1.00 × 40 minutes = $40.00


If the time is decreased from 40 minutes to 25 minutes, then the conversion cost assigned would be $25.00 ($1.00 × 25), saving $15.00 per unit. If cell managers are rewarded for lowering product cost, then they will have an incentive to decrease cycle time. Decreasing cycle time means that products are produced more quickly, thus increasing the likelihood that they will be delivered on time.

4.
MCE = Process time/(Process time + Move time + Inspection time + Waiting time + Other time). In an ideal world, process time would equal theoretical time, and therefore, MCE = Theoretical time/Actual time.


MCE = Theoretical time/Actual time = 20/40 = 0.50

Wasted time = 40 – 20 = 20 minutes


Cost
= $1.00 × 20 minutes = $20.00

5.
In the advanced manufacturing environment, firms need to compete on the basis of time and cost. These measures support these objectives. The goal is to decrease cycle time (increase velocity) by eliminating non-value-added time. As non-value-added time is reduced, MCE increases, and the conversion cost assigned per unit decreases. Also, as MCE increases, non-value-added time drops and non-value-added costs decrease, yielding a lower-cost product.

Problem 13.25
1.
MCE
= 42.0/(42.0 + 2.8 + 7.0 + 11.2 + 33.6 + 43.4)




= 0.30

2.
Strategy as a series of if-then statements:

· If workers are trained and better suppliers are selected, then defects will decrease.

· If defects decrease, then rework and inspection time will decrease.

· If plant layout improves, then move time and wait time will decrease.

· If rework, inspection time, move time, and wait time decrease, then storage will decrease and MCE will increase.

· If storage decreases, then MCE will increase.

· If MCE increases, then costs will decrease.


Strategy Map:


Financial





Process










Learning & Growth

Problem 13.25
(Concluded)
3.
MCE is a lag measure. To reduce MCE, as indicated in Requirement 2, the process must be improved. Performance drivers or lead measures would 
include hours of quality training (this should reduce inspection and rework time), suggestions per employee (this could reveal ways to reduce wait time, for example), and real-time feedback capabilities (this could decrease wait and storage time).

Problem 13.26
1.
Theoretical velocity = 27,900/37,200 = 0.75 model per hour


Theoretical cycle time = 60/0.75 = 80 minutes per model

2.
Actual velocity = 23,250/37,200 = 0.625 model per hour


Actual cycle time = 60/0.625 = 96 minutes per model

3.
MCE = Process time/(Process time + Move time + Inspection time + Waiting time + Other time). In an ideal world, process time would equal theoretical time; therefore, MCE = Theoretical time/Actual time.


MCE = Theoretical time/Actual time = 80/96 = 0.83


The efficiency of the operation is very high.

4.
Budgeted conversion cost = $6,696,000/(37,200 × 60) = $3 per minute


Theoretical conversion cost per model = $3 × 80 = $240

Actual conversion cost per model = $3 × 96 = $288

Yes. By reducing cycle time, the cost per unit can be reduced. The potential reduction is:


$288 – $240 = $48 per model

Problem 13.27
1.

Strategic Objective


Measure


Financial:


Increase profitability
ROI


Increase new customers
Percentage of revenue




and markets

from new sources


Reduce unit cost
Unit cost


Customer:

Increase customer acquisition
New customers


Increase customer satisfaction
Survey ratings


Increase market share
Market share


Increase product quality
Returns


Improve product image
Survey ratings




and reputation


Process:


Improve process quality
Quality costs





Percentage of defective units





Redesign time


Increase quality of
Percentage of defective units



purchased components
Engineering hours


Learning & Growth:


Increase employee capabilities
Training hours





Job coverage ratio


Increase motivation and
Suggestions implemented




alignment
Suggestions per employee


Increase information system
On-time report percentage




capabilities

Problem 13.27
(Continued)
2.
The if-then sequence strategy representation:


If employee capabilities are increased and if information systems capability is improved, then employees will increase the number of suggested improvements; if the number of improvements suggested increases, then the number implemented will increase; if the number of suggestions implemented increases and component quality improves, then process quality will increase; if process quality increases, then product quality will increase; if product quality increases, then product image will improve and the costs of quality will decrease; if product image improves, then customer satisfaction will improve; if customer satisfaction improves, then the number of new customers will increase; if the number of new customers increases, then market share will increase; if market share increases, then revenues will increase; if revenues increase and if costs of quality are reduced, then profitability will increase.


Strategy Map:




Financial






Customer







Process




Learning &


Growth


Problem 13.27
(Concluded)
3.
Evaluation entails or should entail double-loop feedback. Double-loop feedback requires information both on the implementation of the strategy and the viability of the strategy. Implementation effectiveness involves comparing the actual values of the measures with the targeted values. If the actual values meet or beat the targeted values for both outcome (lag) measures and performance drivers (lead measures), then effective implementation has occurred. If the actual outcome measures are less than the targeted measures and the actual lead measures are equal to or greater than the targeted values, then the viability of the strategy can be questioned. Thus, knowing the explicit targets and actual values would be useful information. However, it is indicated several times that the expected improvements were being realized, indicating both implementation success and strategy viability. The financial outcomes were also in the right direction.

4.
The Balanced Scorecard converts the turnaround strategy into operational objectives and measures. The objectives are linked by a series of causal relationships. Targets are set that bring about desired improvements, and rewards are tied to the ability to achieve the improvements. This all increases the likelihood that a strategy will be successful.

5.
The Balanced Scorecard provides a means for directed continuous improvement. It also links performance measures to the strategy itself and, thus, articulates and communicates the strategy to employees, increasing the chances of obtaining an alignment of employees’ goals with organizational goals.

CYBER RESEARCH CASE

13.28
Answers will vary.


	The following problems can be assigned within CengageNOW and are auto-graded. See the last page of each chapter for descriptions of these new assignments.

· Integrative Exercise—Balanced Scorecard, Quality and Environment Costing, Strategic Cost Management (Covers chapters 11, 13, and 14)

· Blueprint Problem—Strategic-Based Responsibility Accounting
· Blueprint Problem—The Balanced Scorecard
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Increases





New


Customers Increase





Product


Image


Improves





Product


Quality


Increases





Process


Quality


Increases





Component


Quality


Improves





Implementations Increase





Suggestions Increase





Employee


Capabilities Increase





Information


Capabilities Increase








The Collaborative Learning Exercise Solutions can be found on the 


instructor website at http://login.cengage.com.
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